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IBM P2065-749 : Practice Test

Question No : 1

What is the largest reason to deploy IAP in an organization?

A. User interface
B. Security

C. Scalability

D. All of the above

Answer: D

Question No : 2

Which software components does the NDI solution have?

A. Intelligent Analysis Platform

B. Analysts Notebook Premium

C. Analysts Notebook connector for ESRI
D. All of the above

Answer: C
Reference:

http://lwww-03.ibm.com/software/products/en/analysts-notebook-esri

Question No : 3

IBM i2 retail solutions provide comprehensive investigative tools to detect and disrupt the
full range of retail fraud. Choose the option that applies.

A. Combat returns fraud, protect your business from e-commerce attacks, detect and
disrupt internal and external fraud /theft

B. Analyze and defeat organized crime rings, disrupt counterfeiting and protect your brand,
lost product and other inventory issues

C. All of the above

D. None of the above
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